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Interactive Question

The graph shows position as a function of time for two
trains running on parallel tracks. Which is true:

A) At time ¢, both trains have the
same velocity.

B) Both trains speed up all the
time.

position

C) Both trains have the same
velocity at some time before ¢,.

D) Somewhere on the graph, both :
trains have the mmb
acceleration.

E) More than one of the above is true.

fime
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Which 0m the mo:oéﬂsm is m <@08H @:m::%

A) The age of the earth.

B) The mass of a football.

C) The earth’s pull on your U@Q%
D) The temperature of an iron bar.

E) The number of people mﬁwb&:m an OU moo:vm:
game.
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- H:HEQZW Question:

" Consider 2 vectors R and S . / \

 WhatisR +8?

D)

‘B



Interactive Question

Which expression is not true
concerning the vectors show
in the sketch at the right?

A)C=A +B
B)C+A=-B
CO)A+B+C=0
D)C<A+B

E) A% + B* = C?
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<onoH|mvrmm a magnitude of 5 m.

What are the possible components of uqu.v
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Interactive Question

Two vectors, A and B are shown below. Which

expressions gives the correct value for the x component of
A and B?

A)
B)
C)
D)
E)

x component of A

A cos 30°
A cos 30°
A cos 30°
A sin 30°
A sin 30°

Y

L.,

x component of B
B cos 0°

B

0

B cos 0°

0
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